f{ @ @TT vier Briiche, Dezimalstellen, Reihenfolge der
Operationen

Name: Datum: Ergebnis:
4+5,6x4-6x2,5+2= 1 s 43
6
2
53+=-3x3,4= 24+ iagxlo
5 3 3

3 3 3
Z14,4+4x 3,9+16x 2 +4—-4x > =
4 5 4

W —

3
= C456x3-55=
4 > b

| —

1
3,9+ 8% = +4-5x

+3%x2,4=

N =
N =

1 3 3
20 x 2 s5+4x 2 =
2 4 4

www.snowmath.com


https://www.snowmath.com

vier Briiche, Dezimalstellen, Reihenfolge der

a
f{ @ TT Operationen
Name: Datum: Ergebnis:
189 9 1 3 65 5
4 + 4 — 2,5+2=—=18— ——5—4x —=(——)=(—10=
5,6x4-6x2,5 5 = 18 g TS TAx S = ()= (F10y)
2 9 1 1 1 6l 1
5,3+=-—-3%x3,4=(—=)= (4= 24+ —+4x — = — =4—
’ 5 ’ (2) ( 2) ’ 3 3 15 15
I 389 29 3 3 33 3
—+44+4x - = — =6— 39+16x - +4—-4x—-=—=3—
’ 3 0 60 ’ 5 4 1 10
I 97 7 3 241 1
+ - +4- - = —=3— -+ — = — =12—
3,9+ 8x 5><5 3 330 1 5,6 x3—35,5 20 0
1 3 3 1 I 1 36 1
——20X - +5+4%x - = — ——=+3%x24=—="7-
2 4 4 2 2 2 ’ 5 5

www.snowmath.com



https://www.snowmath.com

